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a=[77,66,99,44,55]
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a=[77,66,99,44,55] #1118 FE T Tk
HEG B 0L TR o B ] &
sum=a[0] #4r

max=a[0] #1& ~ &



min=a[0] #1i& | &

#id i BE - S 1T TR AL E - Bk

foriinrange(1,5):
sum=sum+ali] #% 4rF - X F L

ifafi]>max: #7322 T 5 iR B

max=ali] #i&~ B 115 L F B

if alil<min: #% Zé_?f}:i,]‘«;?féﬁr &

min=ali] #4E | 0457 X F LB

print("Sum=%d" % sum) #ﬁisa e

print("Avg=%d" % (sum/5)) #%J*li v (sum/5)IEHLA ¥

print("Max=%d" % max) #iis:] i< B
print("Min=%d" % min) #ji%] R A
3.7 * Python p %3¢ o
a=[77, 66, 99, 44, 55]
sum=sum(a) # v
max=max(a) # ¥tk E
min=min(a) #F4& ] &
print("Sum=%d" % sum)
print("Avg=%d" % (sum/5))#(sum/5)3EFLF 7 4
print("Max=%d" % max)
print("Min=%d" % min)
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look ~ at ~ one ~ two - tree ~ and - day * book - from -~ go
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import time #i * time.time()
a=['look’,'at','one’,'two’,'tree’,'and’,'day’,'book’,'from’,'go’]
n=10
right=0
wrong=0
tl=int(time.time())#2~ (¥ s SopF fF e dc
R Bl E - EF
foriinrange(n):
print(a[i],":')#-= =x B~— Tﬁsﬁéf] 4
b=input()#d i * ﬁﬁé NN ==
if b==a[i]:#+* e Z_F 4P IF

right=right+1



else:
wrong=wrong+1
t2=int(time.time())
t=t2-t1
print('right=%d'% right)
print(‘wrong=%d'% wrong)

print('total time=%d second'% t)
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look ~ at ~ one ~ two - tree ~ and - day * book - from -~ go
IEHEA—EER - RAER—#EIRFENT

a=['look’,'at','one’,'two’,'tree’,'and’,'day’,'book’,'from’,'go’]
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2 gear n PR 22
3 behave v * IR
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a=[["delighted", "adj", "® ® "]
["gear", "n", "PR#E"],
["behave", "v", "#IR"]]

Plect B3 i

s P2 R S (B, 7 )40 T

delighted adj B 2




(0,0) (0,1) (0,2)
gear n IR %
(1,0) (1,1) (1,2)
behave v %I
(2,0) (2,1) (2,2)
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print¢afoOljfon #

print(al2](1hH) #
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B 4 FE=[[¥){E foriin range ({TE)]for j in range (F1#0)]
fan © DU R AT PR e b — 8 = AT ARy 451 HYIE R O -
a=[[0 for i in range (3)]for j in range (4)]
b=[[0]*3 for i in range(4)]
print(a) #
print(b) #
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c=[[1,2,3],[4,5,6]]

print(c)
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c[0][0]=1 c[0][1]=2 c[0][2]=3
c[1][0]=4 c[1][1]=5 c[1][2]=6
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c=[[1,2,3],[4,5,6]]

print(c)

c[0][1]=12

d=c[0][1]

print(d)

print(c)
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3 behave v 7 IR
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import time ## * time() 3%
a=[["delighted", "adj", "% &"],
["gear", "n", "PRE"],
["behave","v"," & R"]]
n=3 #iE#c
right=0 #% ¥ #c
wrong=0 #7% 4 48 ¥

tl=int(time.time())#B~1F & sepr i chf)dic



#ig % e BlE - g - g 2 g
for 1 in range(n):
print(a[i][Z],a[i][l],':',endz")#ﬁﬁﬂ!ﬁi— e 2 s
b=input ()#% & & * iﬂ"ii%l »E
if b==al[1][0] :#H#-& * -’F‘,‘ﬁs?])\f-’livﬁﬁ o3
right=right+l
else:
wrong=wrong+1|
t2=int(time. time())#B~ 1 % SLpF FF chf) dic
t=t2-tl
print('right=%d'% right)
print( 'wrong=%d'% wrong)
print('total time=%d second'% t)
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import time

a=[[llbookll’llnlllllzll'll% +Z‘£II'II%_ II'II_:E EFF",”*’:E‘FE:' II]’

["dellghted" "adJ", II1II n rg E} ] n ‘:;b l% mll Il" % l:,“'_,”ll n };h._#x l:,"_,”II]
[Ilgearll n Il II3I| Il;l'b E n llﬁ‘_;_ n IIPR ;*—:‘:II IIEA: 7 ll]]
n=3 #iT#k

c=0 #¥ ¥k
d=0 #% 4 4L
tl=int(time.time())
foriinrange(1,n+1):
print("%d . %s,%s :" % (i,a[i][O],a[i][l]),end=”)#$%] DREEL,E v H
2
forjinrange(1,4+1):
print("(%d) %s :" % (j,a[i][j+2]),end=”)#$%] D B iE 8

b=input()# % % & * % #i ~ ¥



if (b==ali][2]): #* &
c=c+1 #1 FE3E B4l
print("Right")
else:
print("Wrong")
d=d+1 #45 ¥ 58 dcie 1
t2=int(time.time())
t=t2-t1
print("The Right number is :%d"%c)
print("The wrong number is :%d"%d)

print('total time=%d second'% t)
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a=[[1,2,3],[4,5,6]]

b=[[1,2,0],[2,1,3]]

¢=[[0,0,0],[0,0,0]]

#i{E 4By a Bl b — FIERHZE—HI0 > E] ¢ 41
foriinrange(0,2): #2517



for j in range(0,3): #3% — iz HL 45— 4|
clilli1=alilli1+bli1l]
print(a) #{ H pf U 45 R
print(b)
print(c)
#E 7o e A0 el L 45 2R
for 1 in range(0,2):
for j in range(0,3):
print(c[i][j].end=" ")

print() #5k5]
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